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| H (1000) 3.2 46.7 42.2 7.9 49.8 50.2

oy 18~29Al (187) 4.0 454 35.6 15.1 49.3 50.7
30CH (173) 1.9 36.7 50.3 1.2 38.5 61.5

40CH (202) 1.4 36.1 55.1 74 37.5 62.5

50CH (196) 2.3 53.1 38.3 6.4 55.4 44.6

B0l Of& (242) 5.7 58.4 341 1.8 64.2 35.8

X NS (199) 39 425 44.0 9.6 46.4 53.6
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o1& /AT (299) 6.9 38.8 442 10.1 45.7 54.3
HE/NE/EE (106) 59 45.2 43.3 5.6 51.1 48.9
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/2= (102) 5.0 40.5 50.5 4.0 455 54.5
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RIS ES (41) 6.9 50.7 38.7 3.7 57.6 42.4
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& pl (1000) 18.7 55.2 242 1.9 73.9 26.1

o 18~29A| (187) 23.2 59.3 17.4 0.0 82.6 17.4
3004 (173) 17.1 56.1 25.0 1.8 73.2 26.8

4004 (202) 17.7 56.7 21.6 4.0 74.4 25.6

5004 (196) 24.3 49.2 255 1.0 73.5 26.5

60Al Of&f (242) 125 55.1 30.1 2.3 67.6 324

A< NE (199) 15.3 58.9 23.7 2.1 74.2 25.8
o1& /A (299) 19.5 56.4 21.3 2.8 75.9 241
H&E/NS/EE (106) 24.9 49.2 24.7 1.2 74.2 25.8

2 /At (102) 16.3 56.5 259 1.2 72.9 271

U=/2= (102) 21.1 61.1 16.8 0.9 82.3 17.7
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g s/8/0g (22) 10.6 53.0 36.4 0.0 63.6 36.4
PARSRE (159) 15.5 56.7 27.0 0.8 72.2 27.8

AN HI AR (218) 15.7 57.9 255 0.9 73.6 26.4

22| /HZ/M2E | (246) 21.7 52.3 23.0 29 741 25.9
== (196) 22.2 55.3 18.3 4.2 775 22.5

SHAH (105) 216 57.3 211 0.0 78.9 21.1

SR /DIE (54) 11.0 49.8 39.1 0.0 60.9 39.1

=0l gl (210) 204 60.2 19.4 0.0 80.6 19.4
= (718) 17.9 54.6 25.0 2.5 72.5 27.5
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EE 18~29A 309 | 466 39.1 60.9
30CH 299 | 468 356 | 64.4
40CH 235 | 594 244 | 756
50CH 343 | 466 389 | 61.1
60l Ol 4t 323 | 54.1 4.0 | 590
N e 268 | 50.7 350 | 650
oI/ 346 | 477 408 | 59.2
HE/MNE/EH 287 | 483 348 | 652
/et 402 | 485 452 | 548
/2= 258 | 57.7 276 | 724
LA/ B e 239 | 578 276 | 724
e IES 290 | 488 36.1 63.9
sted =Z0|5 367 | 525 460 | 54.0
InE= 319 | 514 363 | 637
CHAHOl At 279 | 505 339 | 66.1
ES]= =/2/01 158 | 61.6 260 | 740
L= 335 | 494 385 | 615
M A AU A R 345 | 498 384 | 616
2e| /M 2/ARR 301 | 487 357 | 643
pIEsE] 200 | 603 26.1 73.9
shAl 358 | 39.0 447 | 55.3
22 )|E 359 | 564 424 | 576
0l iE 328 | 440 407 | 59.3
& 282 | 545 328 | 672
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Ik 10l 425 | 34.1 543 | 457
% 20l 296 | 558 364 | 636
cfel 313 | 49.1 385 | 615
4910/ 4 284 | 52.1 318 | 682
=) ) 314 | 528 39.1 60.9
JER 332 | 499 399 | 60.1
eS| 243 | 57.1 267 | 733
pJ[=" 36 96.4 36 96.4
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201798 2Xt st=AteldtstE

2.5, it gH2tel == 20 2ot HREe EMs2 0 €2
ZUE S0 W
re 25 U3 &= At3le S8 -0l 28 22U 08 229
LHE 0l CHOtO! (EH Mot L&o =M. - 80 HiIEH2t2
LE Tl 28 HREY FMsE2 H £2 ZUE S0 "
T8 = %, BO25(A &), RB025(2& recode)

B U2t == 20 28 WR=2 S22 O £2 ZUE S0 =X Chol

K ICPE RHOIA0| 538%(HG 5.6% + BR' 483%) 2 ‘IUCH= 2HO
Al 46.2% (‘NS 5.5% + THEIZ' 40.7%) 0fl HIH ChA =X LIEHL,

- JI7 AS 3002+ 0I6H51.6%). M& +F 01l 515(51.9%) 0lA ‘JZCH
S 3TOIA0 A2 =2 A2 LEHY

oz CHCH
Hiy | @ sg s BI(%)
B025 1 e J=0 5.5
(48) 2 Mz "o 40.7
3 g2 08X U 48.3
4 | ®s 2R YT 5.6
RB025 5(1+2) | Q&L 46.2
(2% re) | 6(3+4) | 12X &0 53.8
o | yyz | 22 | ®a | 130 | 28X
oz O I v e i 5 2
IR0 e | et | (2 | (3
o A (1000) 5.5 40.7 48.3 5.6 46.2 53.8
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AS | 901~5002t% | (458) | 51 | 892 | 495 | 63 | 448 | 557
5012H0l& | (250) 4.3 39.0 52.2 4.5 43.3 56.7
sz | sons | (70) | 89 | 343 | s85 | 83 | 382 | 618
= S AS (553) 42 39.2 49.8 6.9 43.3 56.7
ot AIMS (377) 7.8 44.0 441 4.1 51.9 48.1
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. (10000 | 55 | 407 | 483 | 56 | 462 | 538

5 E (492) | 69 | 395 | 470 [ 65 | 465 | 535
04 (508) | 41 | 417 | 495 | 46 | 459 | 54.

o 18~29A (187) | 7.1 | 363 | 483 [ 83 | 434 | 566
300 (173) | 34 | 339 | 545 | 83 | 373 | 627

4004 (202) | 23 | 352 | 583 | 42 | 375 | 625

500 (196) | 66 | 466 | 438 | 3.0 | 532 | 468

60Kl 014 | (242) | 76 | 487 | 390 | 47 | 563 | 437

= Ne (199) | 67 | 410 | 453 [ 69 | 477 | 523
017 /27| (299) | 7.7 | 429 | 427 | 66 | 507 | 493
DR/MS/EE | (108) | 7.0 | 497 | 400 | 82 | 568 | 432
ZF/@e | (102) | 25 | 451 | 449 | 75 | 476 | 524

Hw/E= | (102) | 41 | 364 | 559 | 36 | 405 | 595
Sege/Ee | (152) | 29 | 288 | 650 | 33 | 317 | 683
2R/HF (41) | 04 | 425 | 514 | 57 | 429 | 57.

EE SZ0/5f (1) | 102 | 437 | 417 | 44 | 539 | 46.1
k= (372) | 77 | 435 | 435 | 53 | 512 | 488

CAHOI & (536) | 32 | 382 | 527 | 60 | 414 | 586

Do | s/ (22 | 56 | 634 | 3.1 | 00 | 689 | 3l
T (159) | 55 | 428 | 503 | 14 | 483 | 517
MANBIAR | (218) | 77 | 422 | 457 | 45 | 498 | 502
D2UMSINSE | (246) | 6.1 | 361 | 512 | 66 | 422 | 578
B (196) | 37 | 425 | 473 | 65 | 462 | 538

sy (105 | 29 | 380 | 499 | 92 | 409 | 59.1

22 |E} (54 | 59 | 383 | 463 | 94 | 442 | 558

sol oI (210) | 69 | 349 | 513 | 68 | 419 | 58
e (718) | 44 | 411 | 489 | 56 | 455 | 545

JENE (72) | 126 | 527 | 333 | 13 | 653 | 347

b7 ol (55) | 109 | 482 | 355 | 54 | 59.1 | 409
%+ 20! (209) | 76 | 456 | 410 | 58 | 532 | 468
30! (282) | 67 | 384 | 485 | 64 | 451 | 549

4910/ (454) | 32 | 388 | 530 | 50 | 420 | 580

z1 Sl (166) | 42 [ 309 | 542 [ 17 | 441 | 559
S (191) | 104 | 481 | 387 | 28 | 585 | 415

dFD (82) | 49 | 446 | 441 | 65 | 494 | 506

JIEt (7) | 215 | 36 | 469 | 280 | 251 | 749

g3 (553) | 4.1 | 382 | 504 | 73 | 423 | 577
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tH 2t s 8= HIZ(%)
B026 1 e 1o 5.7
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RB0O26 | 5(1+2) | DT} 40.9
(2R re) | 6(3+4) | AZX «LC 59.1
o . =k M5 s JgX
2oz waa | MR | GHE D Jwn | 2 )
s s ot o (142) | (3+4)
| A (1000) | 5.7 35.2 49.5 9.6 40.9 59.1
ol 18~29 Al (187) 5.2 36.7 435 14.6 41.9 58.1
30CH (173) 0.6 277 58.6 13.2 283 717
400H (202) 2.0 24 1 64.4 9.5 26.1 73.9
50CH (196) 5.2 39.6 47.7 75 448 55.2
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& H (1000) 5.7 35.2 49.5 9.6 59.1
P (492) 5.4 36.9 48.3 95 57.8

014 (508) 6.1 33.6 50.7 9.7 60.4

AN (199) 8.7 33.9 51.6 5.8 57.4

OI= /| (299) 6.1 31.1 50.5 12.3 62.8
HE/MES/EE | (106) 76 40.7 38.1 13.6 51.7
ZF/Het (102) 2.9 436 491 4.4 53.5

/8= (102) 6.7 30.5 52.2 10.5 62.7
Sa/2ahEY | (152) 1.3 36.1 53.1 95 62.6
2/ (41) 4.1 44.4 42.7 8.8 51.5

& =Z05} (91) 15.7 42.8 39.4 2.1 415
nE (372) 5.8 38.3 476 8.3 55.9

CHRHOI 4 (536) 4.0 31.7 52.5 11.8 64.3

= =/2/01Y (22) 9.8 57.6 32.5 0.0 32.5
Uyl (159) 55 414 446 8.4 53.0

M AHAMHIAZ (218) 7.2 30.4 53.7 8.8 62.5
2el/He /\PQ&' (246) 36 28.3 58.4 9.7 68.0
pIPsEt (196) 49 34.0 50.5 10.7 61.1

g (105) 55 432 35.7 15.6 51.3

SX/IIE (54) 1.4 47.0 37.4 4.2 415

0l& (210) 46 36.7 441 14.6 58.7

0|E (718) 5.0 34.3 51.7 8.9 60.7

0IE/AE (72) 15.9 39.5 43.3 1.3 446

101 (55) 9.7 32.1 43.8 145 58.3

20! (209) 1.1 435 38.3 7.0 45.4

30! (282) 6.3 34.4 49.3 10.0 59.3

40104 (454) 2.3 32.2 55.5 9.9 65.4

21 (166) 6.9 39.5 491 46 53.6

IS0 (191) 7.9 33.7 50.3 8.0 58.3

SESm) (82) 6.3 35.6 49.2 9.0 58.1

JIEH (7) 0.0 53.8 46.2 0.0 46.2

E0%S (553) 46 34.1 495 1.9 61.3

Pl 3008+ 015t (292) 7.4 38.4 43.7 10.5 54.2
AS | 301~5008+ (458) 42 33.3 52.9 96 62.5
5018+ 0] 4 (250) 6.4 35.0 50.2 8.4 58.6

A& A QIS (70) 6.1 29.4 56.3 8.2 64.5
L = oAz (553) 6.0 36.2 49.4 8.4 57.9
ot elals (377) 5.3 34.8 48.4 1.5 59.9




2017 23X BF2AME| DS EAHKAMOS)
2.7. =AM SEXIEE2 & [ &ohAlL2 AUCH
r=2 25 032 = Atgle 410 80 st 22 LICH G 222
LHZ0l CHold (HEH M2ot=X LS =HR. — =2 A 0l A
dExige A M AN Uct
e 4 8 ) BO27(R’ 28, RBO27(2& recode)
B & X0 E&E o AoHXl= K0l CHoll ‘DX LLHe S&0IAIQ] 65.9%( ‘M

95% + B2 56.3%) 2, &= 2HQIA 34.1%( IS 5.2% + ‘THHZ' 28.9%)

Sl =2 AC2Z LiEs

- FQUHR =/2/012(84.1%), RE/IIEHT6.0%), HEA(72.4%) A 1
X CHs SHOIM0| S5l 52 881, SIS 3FOIA(51.7%) I £HOIA
(48.3%) 01 HIZ=8 2102 LIEH,

[E. 2-1-15] B2 Ab3l2l L&D 014 - SH2AISI0IA HEIES BA O A#KD UCH
CEY 2t sg a= HIS(%)
B027 1 e JCH 5.2
(4%) 2 M=z 2= 28.9

3 | w2 agx on 56.3
4 | M8 2¥X L0 9.5
RBO27 | 5(1+2) | 2™C 34.1
(2H re.) | 6(3+4) | OEX &Ct 65.9
. w2 | mE | 10 | 1¥X
3 = LT e R R B (i ot
g g A0 | 90 | (142) | (3+9)
2 A (1000) | 52 | 289 | 563 | 95 | 341 | 659
/9] =/2/01¢ (22) 46 | 113 | 635 | 206 | 159 | 84.1
yter (159) | 27 | 250 | 622 | 102 | 276 | 724
MAKHIAR | (218) | 53 | 305 | 568 | 74 | 359 | 64
2R HS/IMNDRE | (246) | 64 | 290 | 551 | 96 | 353 | 647
pJE<EL (196) | 25 | 290 | 61.0 | 74 | 315 | 685
HA (105) | 11.1 | 407 | 379 | 104 | 517 | 483
Sx/J|Ef (54) 59 | 181 | 588 | 172 | 240 | 760




. de | gz | 2% | ®3 | 2¥o | 2w

2 = MA% | Obn | Jdg | dEX | 2EX 2

ot | (142) | (3+4)

& A (1000) | 52 | 289 | 563 | 95 | 341 | e59

E Er (492) | 70 | 247 | 559 | 124 | 817 | 683
014 (508) | 35 | 331 | 567 | 67 | 365 | 635

o1 18~29 A (187) | 109 | 369 | 461 | 6.1 | 477 | 523
30cH (173) | 77 | 319 | 583 | 7.1 | 396 | 60.4

40rH (202) | 36 | 234 | 645 | 85 | 270 | 730

50CH (196) | 44 | 269 | 567 | 120 | 313 | 687

6OMI Ol& | (242) | 14 | 270 | 593 | 127 | 281 | 719

e Ng (199) | 78 | 306 | 514 | 101 | 384 | 616
017 /7| (299) | 45 | 336 | 522 | 96 | 382 | 61.8
H&/MZ/E22 | (106) | 80 | 158 | 671 | 91 | 238 | 762
BR/@ek | (102) | 46 | 274 | 577 | 103 | 320 | 680

Hw/Z=s | (102 | 27 | 344 | 534 | 95 | 371 | 629
S/ | (152) | 27 | 238 | 641 | 93 | 266 | 734
2R/HF (4) | 73 | 206 | 576 | 55 | 369 | 63

a2 == (o) | 25 [ 325 | 616 | 34 | 350 | 650
s (372) | 38 | 265 | 600 | 97 | 303 | 697

CAHOI 4 (536) | 66 | 300 | 529 | 104 | 367 | 633

sol o (210) | 116 | 353 | 451 | 79 | 469 | 53.1
o|E (718) | 35 | 263 | 60.1 | 101 | 298 | 70.2

0IE/ArE (72) | 35 | 365 | 512 | 88 | 400 | 600

e ol (55) | 131 | 268 | 481 | 121 | 399 | 60.1
= 20! (209) | 18 | 268 | 613 | 104 | 286 | 71.4
30! (282) | 62 | 283 | 541 | 113 | 845 | 655

4910/ 8¢ (454) | 52 | 305 | 564 | 78 | 358 | 64.2

s 20 (166) | 21 | 258 | 593 | 128 | 279 | 721
JI=1 (191) | 48 | 282 | 556 | 114 | 330 | 67.0

HED (82) | 49 | 229 | 615 | 107 | 278 | 722

JIEk (7) | 00 | 36 | 462 | 502 | 36 | 96.4

zngis (553) | 64 | 313 | 551 | 72 | 877 | 623

b7 | 3002t olst | (292) | 7.0 | 257 | 594 | 79 | 327 | 673
AS | 300~5002+® | (458) | 38 | 314 | 563 | 85 | 352 | 648
50088 0lat | (250) | 57 | 282 | 528 | 133 | 339 | 66.

Mg | 4 olax (700 | 34 | 245 [ 521 | 200 | 280 | 720
$F | BmoMs | (553) | 48 | 300 | 552 | 99 | 349 | 65
stoas | (377) | 61 | 281 | 588 | 70 | 342 | 658




20173 2%t 8= Ar3| DHatZE AHKAMOS)

2.8. st=2Alg|l= YA A 25 =0 40 & =2 5 =
UE= T QUCH
r=2 25 UsS2 8= A3 410 &0 &s 22 LICH Cfs 222
LHZ 0| CHol HH{E N M2ot=Al &6l F=HR. - st=2Alg= ©d
I d 25 =0 S0 & HE=2 5 = UAESE T AU
e 4= & ) B028(R 28!, RBO28(2A recode)

N 241 Y B5 S0t & 2152 2 4= JU=XI0 CHol 3% | 2CF= 2HQCIA0]
56.1%(‘&& 7.6% + G2’ 48.4%) 2, JEF'= SHOCIA! 43.9%(0HL" 4.5%
+ ‘M2 39.4%) 0l HIoH CtA =2 o2 LIEHE.

- UIREO HEWA DEX LT SHAA0| £H LIEG 20, A
S/ /HH(75.4%), 2R /DIEHB1.8%) A= ‘OZCH=E 2HA0| =H LE
EtE.

[H.2-1-16] B2 Al3|2 LA4D 014 - BH=2AES 4D 034 25 1S0| Sei0r &
AHES 5 £ USE G0 UCH
HaH 2t sE 8= HIZ(%)
B028 1 e JC 45
(4A) 2 i EamE 39.4
3 @2 X L 48.4
4 HE JgX &0 7.6
RB028 | 5(1+2) | &L} 439
(2 re.) | 6(3+4) | DAl &£+ 56.1
] sz s | 20 | QX
2 g waa | = 382 2ay | Jax %0
€ s or o (142) | (3+4)
A (1000) | 45 | 394 | 484 | 76 | 439 | 56.1
X0 =/ /0] (22) 102 | 652 | 246 | 00 754 | 246
Xt o (159) 1.1 438 | 482 69 | 449 | 55.1
A A KHIAZ] (218) 49 353 | 52.1 77 | 402 | 598
2R /H2/N2E | (246) 4.0 331 | 537 | 9.1 372 | 628
pIE=ELl (196) 13 | 435 | 492 60 | 449 | 55.1
SHAl (105) | 121 | 365 | 408 | 107 | 486 | 514
S /|E (54) 95 523 | 323 | 60 618 | 382




g de | guz | 22 | #s | dJgo | X

2 N4 | LT | A3g | JEX | JEX ot

ol C} ACH | (142) | (3+4)

H (1000) 4.5 39.4 48.4 7.6 43.9 56.1

gy (42) | 74 | 388 | 456 | 83 | 462 | 538

0i (508) | 17 | 4001 | 512 | 70 | 418 | 582

SE 18~29A (187) | 112 | 334 | 465 | 89 | 446 | 554
300 (173) | 30 | 280 | 578 | 111 | 310 | 69.0

4004 (202) | 23 | 284 | 609 | 84 | 307 | 693

500k (196) | 22 | 487 | 434 | 58 | 508 | 492

60M 012 | (242) | 41 | 540 | 369 | 50 | 58.1 | 419

E (199) | 45 | 432 | 474 | 49 | 477 | 523

OIF/Z]l | (299) | 47 | 334 | 507 | 112 | 380 | 620
HR/MZ/EE | (106) | 53 | 402 | 4701 | 74 | 455 | 545
ZE/ERE | (102) | 90 | 459 | 417 | 34 | 549 | 451

Lm/z= | (102) | 27 | 348 | 575 | 51 | 375 | 625
Sa/2a/EY | (152) | 16 | 436 | 451 | 97 | 453 | 547
22/HE (41) | 52 | 435 | 466 | 47 | 487 | 513

£30/5f (9) | 50 | e42 | 289 | 19 | 692 | 308

InE= (372) | 37 | 439 | 468 | 57 | 475 | 525

TR0 4t (53) | 50 | 322 | 529 | 99 | 372 | 628

e (210) | 102 | 652 | 246 | 00 | 754 | 246

o|E (718) | 1.1 | 438 | 482 | 69 | 449 | 551

01&/AE (72) | 49 | 353 | 520 | 77 | 402 | 598

1ol (55) | 40 | 331 | 537 | 91 | 372 | 628

29! (209) | 13 | 435 | 492 | 60 | 449 | 551

30! (282) | 121 | 365 | 408 | 107 | 486 | 51.4

491012 (454) | 95 | 523 | 323 | 60 | 618 | 382

=0 £D (166) | 107 | 326 | 468 | 99 | 433 | 567
i) (191) | 30 | 416 | 477 | 77 | 445 | 555

HF (8) | 18 | 381 | 601 | 00 | 399 | 60.1

OIE} (7 | 19 | 463 | 419 | 99 | 483 | 517

03 (553) | 29 | 507 | 418 | 46 | 536 | 464

b7 | s00er® 06t | (292) | 66 | 354 | 488 | 93 | 419 | 58
AS | 300~5002t% | (458) | 43 | 359 | 520 | 78 | 402 | 598
5008He 0la | (250) | 56 | 458 | 410 | 7.7 | 513 | 487

ag | 4 oaz (70) | 39 | 406 | 518 | 37 | 45 | 555
+E | moMs | (553) | 20 | 359 | 516 | 105 | 379 | 62
ShoME | (377) | 00 | 534 | 466 | 00 | 534 | 466




20173 2%t 8= Ar3| DHatZE AHKAMOS)

_

3. sHESE #gt MERE s el

3.1. =22 &2 g4 s 0 et 49 HIZ0| 60 IHMES FX

re 3, U2 dHESS ?let MEHel s &t 2 MIIED Us HASE
LICH FotHNA= TS 2212 200l CHoll &+&ot&LIDF? OfLIE EHH

oMLY - =232l & HIE2 EHd & Ok 8 &2 BI=0] 60 HEE
L=

FH =~ 9, BO31(¥ 2%, RBO31(2E recode)

N =39Re HIE=2 §H = 0 & 49 HI§O| BOIHMIES EXl == olfOF SfCHOll
CHoH =B = A EB01 62.9%(0H 12.7% + ‘THHIZ' 50.2%) =, ‘BHHSICH =
BHHE 37.1%('0HS" 6.5% + ‘THHIZ' 30.6%) Oil HISH =l LIEHE

- 422 0A(72.3%)01 4&(53.2%) 0 Hioh ‘E&stH=E HLS0l =3.

[H. 2-1-17] BHESS <& MTHQ JHE 2ot - =39 HIE2 g & o & 49

Hoad 2t g &= Bl Z(%)
BO31 1 e RHABHC 12.7
(4%) 2 HXZ &S8tc 50.2
3 CHA 2 SHCHEHCH 30.6
4 0h< BroHerc 6.5
RBO31 | 5(1+2) | &ASCH 62.9
(2% re.) | 6(3+4) | EHISICH 37.1

TE MAS | aidy | ahen | BOEG | BORD | (42) | (4

& A (1000) | 12.7 50.2 30.6 6.5 62.9 371

= S (492) 1.2 42.0 35.8 10.9 53.2 46.8

ol (508) 14.1 58.2 255 2.2 723 27.7




2 = gga | WS | GHE | OH2 | 0 | BMEC | HOEC
SASCH | &EASICH | BHONSECH | BROHSECE | (1+2) (3+4)

A H (1000) | 12.7 50.2 30.6 6.5 62.9 371

oy 18~29Al (187) 135 45.3 33.0 8.2 58.9 411
30CH (173) 10.6 55.3 25.8 8.3 65.9 34.1

40CH (202) 10.0 55.1 27.1 78 65.1 34.9

50CH (196) 15.7 456 33.6 5.1 61.4 38.6

BOAl Ol4f (242) 13.4 50.0 32.7 3.9 63.4 36.6

N2 (199) 145 51.3 28.1 6.2 65.8 34.2

Ol /ED| (299) 14.0 54.1 27.1 4.9 68.0 32.0
HE/NES/EE (106) 1.7 48.8 314 8.1 60.4 39.6
23/t (102) 8.2 55.2 25.3 1.4 63.3 36.7

U=/83= (102) 17.3 44 4 31.3 7.0 61.7 38.3
SaygeEde | (152) 9.1 447 40.9 5.3 53.8 46.2
RAENOS[ES (41) 10.5 43.9 39.1 6.5 54.4 45.6

shed =Z0|5} (91) 8.3 56.9 27.3 76 65.2 34.8
nES (372) 15.8 474 33.5 34 63.1 36.9

CHHO! &4 (536) 11.3 51.1 29.1 8.4 62.4 37.6

= =/2/0 (22) 135 24.4 48.3 13.9 37.8 62.2
puge:Res (159) 12.2 44.0 35.3 8.5 56.2 43.8

MAHAH| AR (218) 14.1 54.7 27.7 35 68.8 31.2
ZI2I/H2/ARE | (246) 1.1 52.8 27.0 9.2 63.8 36.2
NEFE (196) 14.0 56.0 27.4 25 70.0 30.0

ShAy (105) 1.6 40.1 37.3 11.0 51.7 48.3

S /IIE (54) 13.0 48.2 35.8 3.0 61.2 38.8

0|& (210) 13.1 45.4 32.4 9.1 58.4 416

e (718) 12.6 50.3 31.0 6.1 62.9 37.1

0IE/AtE (72) 12.8 63.6 21.3 2.3 76.5 235

10l (55) 12.0 38.3 449 48 50.3 49.7

20l (209) 13.2 50.5 30.9 54 63.7 36.3

30! (282) 12.8 52.5 28.3 6.3 65.4 34.6

40104 (454) 125 50.2 30.1 7.3 62.6 37.4

=) =3 (166) 9.5 54.2 30.8 5.6 63.6 36.4
BIE==ym] (191) 13.4 54.4 28.2 4.0 67.8 32.2

FSESI (82) 17.0 46.7 26.9 9.5 63.6 36.4

J|E (7) 0.0 443 27.7 28.0 443 55.7

=miert=] (553) 12.9 48.2 32.0 6.9 61.2 38.8

i 3008+ 0I5t (292) 1.1 50.3 34.4 4.1 61.4 38.6
AS 300~5002+ (458) 135 50.1 30.1 6.4 63.5 36.5
5008t 0] & (250) 13.1 50.5 271 9.3 63.6 36.4

M A QIAIE (70) 13.3 53.6 26.6 6.5 66.9 33.1
LT = QA= (553) 13.0 49.8 30.5 6.6 62.8 37.2
CIRRIENES (377) 12.1 50.2 31.4 6.2 62.3 37.7




20173 2%t 8= Ar3| DHatZE AHKAMOS)

re 31 UsS2 SHESS flet MEHQ s getez Mol e
RSYLICH HotHAE TS 2212 L0l CHoll t&ota LI
OtLIH BHCHOHALIMN? — SAH2DL Eotes g4 S22 HEH2ZE

SEE0O0F etCh

e ¥, BO32(E 2%, RBO32(2E recode)

N 2RIt Rioke Uil SEE HENCZ SREIN0F S0 CHoll ‘=S = &AEE0I
79.6%(‘0H" 22.1% + ‘THMIZ" 57.6%) 2, ‘BHHEHH = BHHE 20.4%( 01" 4.2%
+ ‘THHMIZ" 16.1%) 0fl HIoH OHS =Hl LIEtE

- HS0 2H 80| "BtHECH = BHHE0l =2 JH20l, ‘0 Btisttt s ®
BHHE 2 012(26.9%) 01 J1=(21.5%), 012/AHE(14.0%) 0l HIoH =3.

[H. 2-1-18] HHTESS I NEHQ IS 2ot — AARI} 2AF= AA SHS HEXNO
2 SXE00F BT
Had t s 8= HIZ(%)
B032 1 e &tAstt 22.1
(4%) 2 Rz &8ttt 57.6
3 M= BrOistCh 16.1
4 s BrCHSHCH 4.2
RB032 5(1+2) | &ABCH 79.6
(28 re) | 6(3+4) | BHINBHCH 20.4
2 = I 0 thr=2 A= e &MSICH | BrCHStC
= T | MABICH | RGSHCH | BHOHBECH | BECHSECE | (1+2) (3+4)
A Al (1000) | 22.1 57.6 16.1 4.2 79.6 20.4
S0l 0e (210) 26.9 51.2 15.1 6.8 78.1 21.9
pjI= (718) 215 58.9 15.8 3.8 80.4 19.6
OlE/AtE (72) 14.0 62.8 22 1 1.1 76.8 23.2




o - waa | LU | ONE | OHE | Me | @sHn | ege
BABCH | BHS0 | WUBC | WOBD | (142) | (3+4)

d Al (1000) 221 57.6 16.1 4.2 79.6 20.4

gd (492) 20.4 57.7 17.1 4.9 78.0 22.0

e (508) 23.7 57.5 15.2 3.6 81.2 18.8

Ad 18~29Al (187) 26.9 52.4 14.8 59 79.3 20.7
30CH (173) 22.0 546 16.4 7.1 76.6 23.4

400 (202) | 226 | 615 | 124 | 34 | 841 | 159

500 (196) | 195 | 620 | 161 | 24 | 815 | 185

B0Al Ol&t (242) 20.0 56.9 20.1 3.1 76.8 23.2

N2 (199) 27.7 54.8 14.8 2.8 82.4 17.6

Q1A /B I (299) 21.0 55.8 17.2 6.0 76.8 23.2
HE/NE/EE (106) 25.6 55.4 13.8 5.2 81.0 19.0
wx/met | (102) | 246 | 538 | 184 | 32 | 784 | 216

/2= (102) 15.9 67.8 14.2 2.0 83.8 16.2
Sa/gaag (152) 19.1 61.0 15.1 48 80.0 20.0
2RHE (41) | 135 | 608 | 238 | 19 | 743 | 257

stE =Z0lat (91) 20.4 60.8 18.9 0.0 81.1 18.9
S (372) 19.4 58.8 191 2.6 78.3 21.7

CHAHOl & (536) 24.2 56.2 13.6 6.1 80.3 19.7

S jesi s/28/0g (22) 18.7 35.8 455 0.0 545 45.5

(159) 21.9 59.1 13.4 55 81.0 19.0
MA/MAHI AR (218) 19.0 63.5 14.8 2.7 82.5 17.5
2| /HZ2/ARE | (246) 20.4 61.1 14.0 4.5 81.5 18.5
(196)
(105)

N2 196 27.1 50.2 20.7 1.9 77.3 22.7

St 105 28.9 52.7 12.1 6.2 81.6 18.4

SA/IIE (54) 12.1 58.3 18.1 1.5 70.5 29.5

P 1el (55) 22.5 58.5 14.4 4.6 80.9 191
& 29! (209) 19.6 59.6 18.6 2.1 79.3 20.7

3¢l (282) 23.9 56.9 14.9 4.3 80.8 19.2

401014 (454) 22.0 56.9 16.0 5.1 78.9 2141

Sw =g (166) 20.4 58.9 17.6 3.2 79.2 20.8
=1 (191) 18.5 56.1 19.8 56 74.6 254

& (82) 20.1 57.0 16.7 6.1 7.2 22.8

JIEt (7) 52.3 20.0 0.0 27.7 72.3 7.7

WS (553) 23.7 58.2 14.6 3.5 82.0 18.0

It 3008+ 0lat (292) 20.8 58.7 17.6 3.0 79.4 20.6
s 300~5008+A (458) 23.7 57.7 14.5 4.2 81.4 18.6
5002t 0l&f (250) 20.7 56.1 175 58 6.7 23.3

= o QNS (70) 19.5 62.7 15.7 2.2 82.2 17.8
=T = UAS (553) 22.2 56.0 16.3 54 78.3 21.7
ot QIAS (377) 22.3 58.9 16.0 2.8 81.2 18.8




. 20174 2% SR A DS X

3.3. sYL=0 oAl s AUIH =58t 222 B&ot=
HEO0| HIE TIO{0F StCt
rs 3, USe HHZESS Ast MEXQ IS oo 2 HIIZ D Y= HELY
LICH HolHAE CHS 222 2ot CHoll &t LIDF? OFLI ™ BHCH
SHAMLIDM — SL=s0H UohM =S XUH SS& 222 286!
= BE0| M&E ZI00F 8Tt

Fed & &, BO33(R 2&), RBO33(2AE recode)

N S2=S0 UiohA EEH HHIHI S50 222 B&ok= HE0| MAEZIHO0F stCHHl
CHoll ‘RS = ZHEZE0] 83.1%( 1S 33.0% + ‘THMIZ 50.1%) 2 IR =S.
B3 ‘BILHSHCH = BHUIESR 16.9%( S 21% + ‘THMIZ 14.8%) 0 &

- " 2AHQ0| ‘BHSHE RAS0| =2 I, 60A 014H76.0%) Ol Al
AfEC=Z U3
[HE. 2-1-19] HHESS {8 HMEXQ W 2ot - SALS0 told 2EsSTAH sS
5t U222 BAGH= HE0| MACOO0F 8t
5] 2t =5 @5 Bl E( %)
B033 1 e ASHCH 33.0
(47%) 2 OiRZ &S 50.1
3 M=z BHiistch 14.8
4 s SHCHSHCH 21
RB033 5(1+2) | &ASHCH 83.1
(28 re.) | 6(3+4) | BHHEHT 16.9
=) = A 0 thr=2 A= e &MSHCH | BrOHStC

= T | AFCH | RO | BHECH | BB | (1+2) | (3+4)

b H (1000) | 33.0 50.1 14.8 2.1 83.1 16.9
oA 18~29A (187) 40.1 442 14.0 1.7 84.3 15.7
30CH (173) 34.3 51.0 12.3 2.4 85.4 14.6

40CH (202) 31.8 53.3 12.8 2.2 85.0 15.0

50CH (196) 30.1 56.8 11.8 1.3 86.9 13.1

60N Ol4t (242) 30.1 46.0 21.1 2.8 76.0 24.0




o T =] 6
T g NA% | wilag i “fg{+i)c}

o H (1000) 33.0 14.8 16.9

= (492) 255 18.8 21.0

(0P (508) 40.3 10.8 12.9

A2 (199) 35.6 13.8 171

Ol /ED| (299) 34.6 9.7 11.9
HE/NE/EE (106) 354 14.9 15.6
Zx=/Hel (102) 34.4 17.2 18.0

tH=/Z= (102) 30.6 16.5 18.7

A2 A (152) 27.3 22.0 23.9

L /H= (41) 26.7 18.7 22.0

=lg=] =Z0|0l (91) 33.5 175 17.5
e (372) | 308 16.9 195

CHRHOI & (536) | 345 12.8 14.9

x19] =/2l/01¢] (22) | 427 259 259
PSR! (159) 26.2 14.2 16.8

MAHAH| AR (218) 34.0 14.8 171

2e /M2 /\F—'?—’—:l (246) 28.7 17.6 194
p[F-ELT (196) | 43.1 10.1 12.3

S (105) | 374 12.7 14.9

2 /J|Et (54) 19.7 194 211

1= (210) 40.7 14.4 17.0

= (718) 311 145 16.4

0lE/AE (72) 29.6 17.9 21.4

10l (55) 329 18.1 22.7

201 (209) 28.6 15.6 17.2

39l (282) 355 16.3 18.0

4010| & (454) 33.6 13.0 15.3

=D (166) | 314 15.9 17.7

Jls (191) 34.0 10.8 13.1

PSS (82) 32.3 10.2 12.8

JIE (7) 56.3 0.0 21.5

E=ENGS (553) 33.0 16.6 18.5

I | 3000kR0IE | (292) | 841 146 15.7
AS | 301~5000k2 | (458) | 318 5.1 17.2
501BHRI0IA | (250) | 340 143 176

ey Al OIA= (70) 23.4 12.6 13.2
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